YII 8% SATESE

@®.4— 1 Solving Equation

Multiple-Choice

1.

If5 + +/n = 8.2, what is the value of
5 —Vn?

(A) 0
(B) 1.8
(€ 3.2
D)5
(E) 6.8

If (9 — 4)(x + 4) = 30, then x =

(A) 2
(B) 4
(© 6
(D) 8
(E) 12

If2(1 + 5) = 3(w — 4), then w =

(A) 0
(B) 2
(©€) 4
(D) 6
(E) 8

If%—-i=1—3,thenx=

(A) —6
(B) -3
@€ -1
D)3
(E) 6

If5a—2b= b+ 1 =9, what is the
value of #?

(A) 2
(B) 5
©) 10
(D) 15
(E) 25

If3x— 6=18,thenx— 2 =

(A) 2
(B) 4
(€ 6
(D) 8
(E) 10

If2x+ y=y+ 14, thenx =
7
@A) 5

(B) 7
(C) 14
(D) 21
(E) It cannot be determined.

. If ;k =26 iien ;k <

(A) 21
(B) 27
(€ 32
(D) 35
(E) 42

1

1 1
4 If-2-x t 71x+ g = 14, then x =

(A) 4
(B) 8
(G 12
(D) 16
(E) 24

. If2s+ 3¢= 12 and 45 = 36, then ¢t =

(A) =3
(B) —2
© 2
(D) 3
(E) 9

3

. If » = Zxt, what is the value of #when

4
r= 54 and x = 12?

A) 5
(B) 6
(©) 8
(D) 12
(E) 20

. If—i—=2, thenx+ 2 =

(A)

(B)

©) 3
(D) 4
(E) 6
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3 ][-'y—;-—2= y+ 2, then y =

(A) -6
(B) —4
€ -2
(D) 4
(E) 6

3y ks
2=

7 =77 , then y =

(A5
(B) 9
© 13
(D) 17
(B) 21



15.

16.

L7

18.

19.

I % = 4, then 3y =

(A) 4

(B) 12

(C) 24

(D) 30

(E) 36

If4(j + k) — 5 =16 + (j + 4), then
jt k=

(A) 8

(B) 7

©) 5

(D) 4

(E) It cannot be determined from the

information given.

When the number £ is multiplied by 5,
the result is the same as when 5 is added
to k. What is the value of 2

(A)
(B)
(©)

(D)

(E)
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If;—f =27and y = %, what is the

1
value of o X

(A) 3
|
(B) 45

©) 6
D)9
(B) 12

If — +

i= 1, then p =
?

[SV I

@3
(B) 2

@2

D) =
(E) 6

20. IFé = 8 = ~9-,thcnx+y=
4 x oy

(A) 4
(B) 8
(C) 12
(D) 16
(E) 20

Grid-In

1. If2x— 1= 11 and 3y = 12, what is the
value of %X
4
2. If7(a+ b) — 4(a + b) = 24, what is the
value of 2 + 6?2
3. Iftl —x— 2%—3x=6x— 1, what is
the value of
. 56 .
4. In the equation p = —-, what is a value
c

of cwhen p = 9 and 6 = 20?

5. 1f60% of ris equal to s% of 45, what is

the value of?r?
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. (B) If5 + Vn = 8.2, then Vi = 8.2 —
5=132,505—Vn=5—32=1s8.

(A) (9 —4)(x+ 4) = 30
5(x + 4) = 30
xtd=2 =6
5
x=6—4
= 2
(E) 2(1+5) = 3(w — 4)
2(6) = 3(w) + 3(—4)
12 = 3w — 12
12+ 12 = 3w
24 = 3w
24
-_— = w
3
8 =w
x
B) Z-1=1-3
()3
Z-1=-2
3
Z=-2+1
3
E:—-I
3
x = —13) = =3

(B) Break down 52— 26= b6+ 1= 9 into
two equations: 52 — 2b=9and b+ 1 =
9. Solving the second equation for & gives &
= 8. Substitute 8 for & in the first equation:

52— 2(8) =9
54— 16 =9
Sa=9 + 16
da _ 25
5 5
a=>5

(C) Solution I: Solve 3x — 6 = 18 for x — 2
by dividing each member of the equation by 2:
2.0 =18
3 3 3
x—2=06

Solution 2: The answer choices represent
possible values for x — 2. Add 2 to each
answer choice to obtain the possible values for
x. Then substitute each of these values into
the given equation until you find one that
works:

Solving Equation 2% -

3x —6 =18
36+2)—6=18
24 —6 =18

7. (B) If2x+ y= y+ 14, subtracting y from
each side of the equation gives 2x = 14, so

14
= —_— = 7
2

X

8. (B) If;k = 30, then

1 1
—k = —(36) =
7 4(J 9
Since l;k = 9, then
3
=k = 309) = 27
> 9)
9. (D) %x+%x+éx=l4
éx+gx+-l-x=l4
8 8 8
Zx=l4
8
ﬁzx]=§(14)
7\ 8 7
x =16

10. (B)If2s+ 37#= 12 and 45 = 306, the second

equation can be used to eliminate sin the first

equation. Since é—j =2s= -356 = 18, replace
25 with 18 in the first equation. Then solve
for =
18 + 3¢t = 12
3r =12 — 18
3t = —6
b=8 _
3

11. (B) Ifr=-2—xtand r= 54 and x = 12, then

-]
54—4(12)x
3 3
54=Z(1/2)f
54 = 9¢
4_9
9 9

6=t



18. (D) Solve = = 27 for x after replaci
12. {CY IE % = 2, then x = 1 since % = 2. (0} Splve ¥ of x atter replacing
Hence, y with g:
x+2=1+2=3 3
5 x= y=27
K= e .
13. (A) If 2 y + 2, then y 2 x+%=27
2(y + 2). Eliminate the parentheses, and
then collect all the terms involving y on the %x =27
same side of the equation.
y=2=2(+2) 2 18.1-2.5
=2y+ 4 3 2x V.4 2
y—2y=4+2 -
—y=6,50y=—06 lx }8
) +3 SO 2x 2(
14. (E) If D = VT2 serthe cross-products _
7 4 Instead of first solving for x, you could also solve
equal and ti;en solve+th3e resulting equation. directly for Ly — % =3 %x = 27, solve
e d =2
v 4 for %x by dividing both sides of the equation
429 =7 (y+3) .
8y=7y+ 21 y o :
y="al 3 3
15. (E) If% = 4, then y = 3(4) = 12, 50 %x=9
3y=3(12) = 36
16. (B) Treat j + £’ as a single variable and )
solve for it in the usual way: 19. (D) Since 3 - - 1, isolate the letter by
. 4G+ A —5=16+(G+ A ?
—(G+ A = —(G+tA subtracting% from each side of the equation:
3G+ k—5=16
R .. i %
Add 5 to both sides: P 3 3
36+ 8 -5+5=1615 Eliminate the fractions in this equation by
3G+ h =21 cross-multiplying:
3+ h _ 21 g
3 3 i
k=7 p_3
17. (C) According to the conditions of the 2p=9
problem, 5k = k+ 5s0 5k — k= 5. P=2'
2

Since 4k =5, k= %



20. (E) Write the equation ?3 _5_3 as 5
two equations: x
- ML - S g By 1
4 x 4 J
Solve the first equation for x:
3 _6
4 X
3x = 24
x = % =8
Solve the second equation for y:
i p—— i
4y
3y = 36

Hence,
x+y=8+12=20

GRID-IN

£

(6/4) If 2x — 1 = 11, then 2x = 12, so

x=-12£ = 6. Since 3y = 12, then

y=£ =4, chce,—x-— = i Grid in as
3 y 4

6/4 or 1.5.

8) If 7(a + b) — 4(a + b = 24, then
3(a+ b) = 24, s0

d+b:?=8

(2/12) If1 — x— 2x — 3x= 6x — 1, then
1 —6x=6x— 1,501 + 1= 6x+ 6xand
2

2 = 12x. Thus, x = T Grid in as 2/12.
. 56 .
(10/3) In the equation p = =y ifp=29
5(20)
and 4 = 20, then 9 = —5— or 9¢* = 100,
» _ 100
s0 ¢ =g Taking the positive square
root of both sides of the equation gives
C = 1—00_ _— .1_0.
vo o 3

Grid in as 10/3.

(0.75) Since 60% of 7 is equal to % of 45,

_ s _ .
0.60 X r= 100 X 45 = 0.45s. Hence:

0.607 _ 0.45s
0.60  0.60

r= 0.75s
0.75s

R

r a—
5
§=a%
Grid-in 0.75 or 3/4.



